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Ao all the guentfony in this xevtion: Al gquestions carey equal marks,
Thée su of the 1o and elghih oo of an Avithmetle Progression (A.P) I 23.} Athe

Aty by subtractedd B tw lee e seventh term, the result is 28 %— . Find the :
() common diitbrence, v

(M st ten,
() st of the st eight oo, of the A I

Il‘mo‘muulwr $ £y added 1o both the numerator and denominator of o certain fraction , the result
{s --‘- CWhen the number A i subtracted trom both numerntor and denominator of the fraction ,

Al
the results is -i— Find the fraction,

The radius and helght of a eylinder are 7 em and 14 em respectively. Calculate the:
(@) curved surlhee nrea of the eylinder;
(M total surfiee area of the eylinder, if'it is closed at both ends.

() volume of' the eylinder,
[Tuke 1t = 22
7
A point M s 3.2 ki from another point Q on a bearing of 060° and R is 2.4 kmona

bearing of' 150° trom Q.
(@) Wustrate the information in a dingram,

(M Find the: .
() distance MR;
(i) bearing of M from R,

I) ;S‘
NOT DRAWN TO SCALE

In the diagram, \Yisa tangent to the circle PQOR at P, I(_TR|= |P_R] : 7’7?'“57 ZPRQ = 50° and 72
bisects ZRSY, Find:

(@)  ZRIS;

(M ZPSR;

(¢) ZPRS



R

Section B3
[60 marks)

Answer five questions only from this section. AN questions carry equal marks,

(a) A businesswoman bought n printing machine for $8,000,00 and later sold it at o loss
of 15 %. She spent §3,500,00 of the amount received from the sale and invested the
rest at 7 % per annum compound interest, Calculate the interest carned after 4 years,

(b) The minute hand of a clock is 7.2 em. Calculate, correct to five significant figures,
the arca swept by the minute hand from 17:35 hrs to 18:20 hrs.
[Take = 22
7

Scores 1 2 3 4 5 6

No of Pupils x+1 | 2x+1| 3x+2|4x+3|5x+4 | 6x+5

The table shows the distribution of test scores of pupils in a class. If the mean

score is 4-2—1, find the:

58
(a) value of x;
(b) total number of pupils in the class,
(¢) median score,
(d) probability that a pupil chosen at random scored more than 3.

(a) Two consecutive even numbers are such that one-third of the smaller exceeds
one-fourth of the larger by 7. Find the numbers.

() A solid cylinder and a sphere have same radius » cm. The total surface area of
the cylinder is thrice as large as the surface area of the sphere. Find the ratio of
the volume of the cylinder to the volume of the sphere.



1
0 () Findd the equation of the Hoe that passes thongh the point - S, - 4) and

perpendicular o 2y 4y 8

("M An obsernet on top of o buidding 100 m high observes that angles of depression of two
tirds on the horzontal ground are S87° and 787 respectively
(W Mustrate the intformation in a dagram
i Caleulate, correct to two decimal places, the distance between the two birds

10 (&) The mean score of 40 pupils in a class test is 32,5, I there are 22 boys in the class

and their mean score in the test is 33,4, find the mean score of the gitls.
pye e b - " ~ A . P l _l l" »

(M Giventhatm =l — and n = N find the number x, which 1s exactly hall way

/ -t
between m and n,
11 (@) A motorist travels from town M to town £ at an average speed of 72 km hr. On the reum

journey, the average speed was 90 km hr. If the motorist used 12 hours for the total journey

(stop over not included), how far is M from 77

. §-x 2 :

(b Given thatlog, (.‘.‘_;_ = — find the values of x.
TN B

tai| =

12. (@) Inawmangle 48C, ITITI =153 em I BC| = 1S emand| AC| =35 cm. D and £ are points

on A8 and AC respectively such that | ‘~I_I;| = 9 ¢cmand| DE| / / I—S_L:| :

(1) Mustrate the information in a diagram.
@ Ft oW BN
(@) |DE|:

®  |ECI. HE N .I—E BB
H N R B

(h) The sum of two numbers is 27 and their product is 182, Find the numbers.

-

13. (a) The roots of the equation av + hv + ¢ = Oare - L‘ and -+ . Find the values

ofa,bandc.

(" The interior angles of a polygon are: (20+ DT, (3= 27, 20 (3r=2°. (2r-1°

and (3¢ + 2)°. Find the:
Q) value of'r;
() difference between the largest and smallest angle.

END OF PAPER



